Int. J. Open Problems Complex Analysis, Vol. 7, No. 2, June 2015 ISSN 2074-2827; Copyright ©ICSRS Publication, 2015 www.i-csrs.org

Characterization and other properties of analytic functions containing generalized operator

Trailokya Panigrahi and Lili Jena

Department of Mathematics, School of Applied Sciences KIIT University, Bhubaneswar-751024, Odisha, India e-mail: trailokyap6@gmail.com, lily.jena@gmail.com

Abstract

In this note, the authors introduce two new subclasses $S_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}(\mu)$ and $C_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}(\mu)$ of analytic functions in the open unit disk \mathbb{U} . The subclasses are obtained by making use of combinations of generalized differential operator with iterations of the Owa-Srivastava operator for normalized analytic functions. Characterization and other properties such as inclusion theorems, distortion bounds, extreme points, convex linear combination, integral means inequalities and Fekete-Szegö problems for the above mentioned classes are obtained.

Keywords: analytic function, Owa-Srivastava operator, distortion bounds, extreme points, integral means inequalities.

2000 Mathematical Subject Classification: 30C45.

1 Introduction and Definitions

Let $\mathcal{H}(\mathbb{U})$ be the class of functions analytic in \mathbb{U} and $\mathcal{H}[a, n]$ be the subclass of $\mathcal{H}(\mathbb{U})$ consisting of functions of the form:

$$f(z) = a + a_n z^n + a_{n+1} z^{n+1} + \dots \quad (z \in \mathbb{U}).$$
 (1)

Let \mathcal{A} be the subclass of $\mathcal{H}(\mathbb{U})$ consisting of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (z \in \mathbb{U}),$$
(2)

which satisfy the following usual normalized condition:

$$f(0) = f'(0) - 1 = 0.$$

Let \mathcal{S} denote the class of all functions in \mathcal{A} which are univalent in \mathbb{U} . A function $f \in \mathcal{A}$ is said to be starlike of order ζ if it satisfies the inequality

$$\Re\left\{\frac{zf'(z)}{f(z)}\right\} > \zeta \quad (z \in \mathbb{U}), \tag{3}$$

for some $0 \leq \zeta < 1$. We denote by $\mathcal{S}^*(\zeta)$, the class of such functions. Further, a function $f \in \mathcal{A}$ is said to be convex of order ζ if it satisfies

$$\Re\left\{1+\frac{zf''(z)}{f'(z)}\right\} > \zeta \quad (z \in \mathbb{U}),$$
(4)

for some $0 \leq \zeta < 1$ and it is denoted by $\mathcal{K}(\zeta)$. In view of Alexander's transform $f(z) \in \mathcal{K}(\zeta) \iff zf'(z) \in \mathcal{S}^*(\zeta)$ (for detail, see [13]). In particular, the class $\mathcal{S}^*(0) = \mathcal{S}^*$ and $\mathcal{K}(0) = \mathcal{K}$ are familiar classes of starlike and convex functions in \mathbb{U} respectively.

For the function $f \in \mathcal{A}$ given by (2), the operator $\Omega_z^{\lambda} : \mathcal{A} \longrightarrow \mathcal{A}$ is defined by

$$\Omega_z^{\lambda} f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} a_n z^n \quad (-\infty < \lambda < 1; z \in \mathbb{U}).$$
(5)

Note that

$$\Omega_z^0 f(z) = f(z), \quad \Omega_z^1 f(z) = z f'(z) \quad and \quad \Omega_z^{-1} f(z) = \frac{2}{z} \int_0^z f(\tau) d\tau.$$

The operator Ω_z^{λ} is popularly known as the Owa-Srivastava operator in literature (see, e.g., [9, 10]).

We observe that $\Omega_z^{\lambda} f$ provides an analytic expression for the fractional derivative of order λ ($0 \le \lambda < 1$) and fractional integral of order λ ($-\infty < \lambda < 0$) for functions of a complex variable, defined by Owa and Srivastava [11] and Srivastava and Owa [16].

Definition 1.1 For $f \in \mathcal{A}$, the operator $\Omega_z^{(\lambda,m)} : \mathcal{A} \longrightarrow \mathcal{A}$ is defined by

$$\Omega_z^{(\lambda,0)} f(z) = f(z)$$

$$\Omega_z^{(\lambda,1)} f(z) = \Omega_z^{\lambda} f(z)$$

and for $m = 2, 3, 4, \cdots; z \in \mathbb{U}$

$$\begin{aligned}
\Omega_z^{(\lambda,m)} f(z) &= \Omega_z^{\lambda} \left(\Omega_z^{m-1} f(z) \right) \\
&= z + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m a_n z^n \quad (6)
\end{aligned}$$

Definition 1.2 (see [12]) For $f \in \mathcal{A}$ given by (2), the generalized differential operator $\mathcal{D}_{\alpha,\beta,n,\delta}^k : \mathcal{A} \longrightarrow \mathcal{A}$ is defined by

$$\mathcal{D}^{0}_{\alpha,\beta,\eta,\delta}f(z) = f(z)$$

$$\mathcal{D}^{1}_{\alpha,\beta,\eta,\delta}f(z) = [1 - (\eta - \delta)(\beta - \alpha)]f(z) + (\eta - \delta)(\beta - \alpha)zf'(z)$$

$$= z + \sum_{n=2}^{\infty} [(\eta - \delta)(\beta - \alpha)(n - 1) + 1]a_{n}z^{n},$$
...
$$\mathcal{D}^{k}_{\alpha,\beta,\eta,\delta}f(z) = \mathcal{D}^{1}_{\alpha,\beta,\eta,\delta}\left(\mathcal{D}^{k-1}_{\alpha,\beta,\eta,\delta}f(z)\right)$$

$$= z + \sum_{n=2}^{\infty} [(\eta - \delta)(\beta - \alpha)(n - 1) + 1]^{k}a_{n}z^{n} \qquad (7)$$

$$(\alpha \ge 0, \ \beta > 0, \ \eta > 0, \ \delta \ge 0, \ \eta > \delta, \ \beta > \alpha, \ k \in \mathbb{N}_{0} := \mathbb{N} \cup \{0\}).$$

Thus, for the function $f \in \mathcal{A}$ given by (2), we introduce the operator $\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}$: $\mathcal{A} \longrightarrow \mathcal{A}$ as the combination of the operators $\Omega_z^{(\lambda,m)}$ and $\mathcal{D}_{\alpha,\beta,\eta,\delta}^k$. That is for $z \in \mathbb{U}$,

$$\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z) = \Omega_z^{(\lambda,m)}\mathcal{D}_{\alpha,\beta,\eta,\delta}^k f(z)$$

= $z + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k a_n z^n$ (8)

The operator $\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}$ generalizes several previously studied familiar operators. The following are some of the interesting particular cases:

- For k = 0 and m = 1, the operator $\mathcal{Q}^{0,\lambda,1}_{\alpha,\beta,\eta,\delta} = \Omega^{\lambda}_{z}$ is the familiar Owa-Srivastava operator [11];
- for $m = \alpha = \delta = 0, \eta = \beta = 1$, the operator $\mathcal{Q}_{0,1,1,0}^{k,\lambda,0} = \mathbf{S}^k$ is the popular Sãlãgean operator [14];
- for m = 0, $\lambda = 0$ and $\alpha = 0$, the operator $\mathcal{Q}^{k,0,0}_{0,\beta,\eta,\delta} = D^k_{\delta,\beta,\eta}$ has been studied by Darus and Ibrahim [2];
- for $m = \alpha = \delta = 0, \eta = 1$, the operator $\mathcal{Q}_{0,\beta,1,0}^{k,\lambda,0} = D_{\beta}^{k}$ has been studied by Al-Oboudi [1].

Using the generalized operator $\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}$, we introduce the new classes of analytic functions as follows:

Characterization and other properties

Definition 1.3 Let $f(z) \in \mathcal{A}$. Then f(z) is in the class $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ if and only if

$$\Re\left[\frac{z\left(\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)\right)'}{\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)}\right] > \mu \quad (0 \le \mu < 1; z \in \mathbb{U}).$$

$$\tag{9}$$

Definition 1.4 Let $f(z) \in \mathcal{A}$. Then f(z) is in the class $\mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ if and only if

$$\Re\left[\frac{\left\{z\left(\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)\right)'\right\}'}{\left\{\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)\right\}'}\right] > \mu \quad (0 \le \mu < 1; z \in \mathbb{U}).$$
(10)

Note that for m = k = 0, the classes defined by (9) and (10) reduces to the class of starlike function and convex function order μ respectively.

The object of the present paper is to study characterization properties, distortion bounds, extreme points, linear combination and Fekete-Szgö inequalities for the classes $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ and $\mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$.

2 Characterization properties

In this section we study the characterization properties for function $f(z) \in \mathcal{A}$ given by (2) belong to the classes $\mathcal{S}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}(\mu)$ and $\mathcal{C}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}(\mu)$ by obtaining the coefficient bounds.

Theorem 2.1 Let the function f(z) of the form (2) be in the class A. If

$$\sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1 \right]^k |a_n| \le (1-\mu)$$
(11)

for some μ $(0 \le \mu < 1)$, then $f(z) \in \mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$. The result (11) is sharp.

Proof. Suppose that (11) holds true for μ ($0 \le \mu < 1$). Since

$$1-\mu \geq \sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n|$$

$$\geq \sum_{n=2}^{\infty} \mu \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n|$$

$$- \sum_{n=2}^{\infty} n \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n|,$$

then this implies that

$$\frac{1+\sum_{n=2}^{\infty}n\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^{m}\left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^{k}|a_{n}|}{1+\sum_{n=2}^{\infty}\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^{m}\left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^{k}|a_{n}|} > \mu.$$

So we conclude that

$$\Re\left[\frac{z\left(\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)\right)'}{\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)}\right] > \mu \quad (0 \le \mu < 1; z \in \mathbb{U}).$$

Thus, $f(z) \in \mathcal{S}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}(\mu)$. The assertion (11) is sharp for the extremal function given by

$$f(z) = z + \sum_{n=2}^{\infty} \frac{1-\mu}{(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} z^n.$$

The proof of Theorem 2.1 is completed.

Corollary 2.2 Let the hypothesis of Theorem 2.1 be satisfied. Then

$$|a_n| \le \frac{1-\mu}{(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} \quad (\forall \ n\ge 2).$$

Corollary 2.3 Let the hypothesis of Theorem 2.1 be satisfied. Then for $\mu = m = k = 0$, we have

$$|a_n| \le \frac{1}{n} \quad (\forall \quad n \ge 2).$$

In the similar manner we can derive the following result for the class $\mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$. We choose to omit the detail.

Theorem 2.4 Let the function $f(z) \in \mathcal{A}$ be given by (2). If

$$\sum_{n=2}^{\infty} n(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1 \right]^k |a_n| \le (1-\mu)$$
(12)

for some μ $(0 \le \mu < 1)$, then $f(z) \in \mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$. The result (12) is sharp.

Corollary 2.5 Let the hypothesis of Theorem 2.4 be satisfied. Then

$$|a_n| \le \frac{1-\mu}{n(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} \quad (\forall \ n\ge 2).$$

Corollary 2.6 Let the hypothesis of Theorem 2.4 be satisfied. Then for $\mu = m = k = 0$, we have

$$|a_n| \le \frac{1}{n^2} \quad (\forall \ n \ge 2).$$

3 Inclusion theorems

In this section we discuss the inclusion theorems for the class $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ and $\mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$. The proof is straight forward and follows from Theorem 2.1 and Theorem 2.4. We only mention the statement.

Theorem 3.1 Let $0 \le \mu_1 \le \mu_2 < 1$. Then

$$\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu_1) \supseteq \mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu_2).$$

Theorem 3.2 Let $0 \le \mu_1 \le \mu_2 < 1$. Then

$$\mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu_1) \supseteq \mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu_2).$$

4 Distortion bounds

A distortion property for the function $f \in \mathcal{A}$ in the class $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ and $\mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ are considered in the following theorems.

Theorem 4.1 Let the hypothesis of Theorem 2.1 be satisfied. Then for $z \in \mathbb{U}$ and $0 \leq \mu < 1$, we have

$$|z| - \frac{1-\mu}{2-\mu} |z|^2 \le |\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m} f(z)| \le |z| + \frac{1-\mu}{2-\mu} |z|^2.$$
(13)

Proof. By virtue of (11) of Theorem 2.1, we have

$$(2-\mu)\sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n|$$

$$\leq \sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n|$$

$$\leq 1-\mu.$$

Therefore, we have

$$\sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1) + 1 \right]^k |a_n| \le \frac{1-\mu}{2-\mu}.$$
 (14)

It follows from (8) that

$$\begin{aligned} \left| \mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m} f(z) \right| \\ \leq |z| + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n| |z|^n \\ \leq |z| + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n| |z|^2 \\ \leq |z| + \frac{1-\mu}{2-\mu} |z|^2. \end{aligned}$$
(15)

Further,

$$\begin{aligned} \mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z) \Big| &\geq |z| - \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1 \right]^k |a_n| |z|^n \\ &\geq |z| - \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1 \right]^k |a_n| |z|^2 \\ &\geq |z| - \frac{(1-\mu)}{(2-\mu)} |z|^2, \end{aligned}$$
(16)

by application of (14). Therefore, the assertion (13) follows from (15) and (16). The proof of Theorem 4.1 is thus completed.

The proof of the following theorem can be derived in the same line to that of Theorem 4.1. We use the hypothesis of Theorem 2.4 instead of Theorem 2.1. We mention here only the statement and choose to omit the detail

Theorem 4.2 Let the hypothesis of Theorem 2.4 be satisfied. Then for $z \in \mathbb{U}$ and $0 \leq \mu < 1$, we have

$$|z| - \frac{1-\mu}{2(2-\mu)} |z|^2 \le |\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m} f(z)| \le |z| + \frac{1-\mu}{2(2-\mu)} |z|^2.$$

Theorem 4.3 Let the hypothesis of Theorem 2.1 be satisfied. Then

$$|z| - \frac{(1-\mu)(2-\lambda)^m}{2^m(2-\mu)[(\eta-\delta)(\beta-\alpha)+1]^k} \le |f(z)| \le |z| + \frac{(1-\mu)(2-\lambda)^m}{2^m(2-\mu)[(\eta-\delta)(\beta-\alpha)+1]^k} |z|^2.$$
(17)

Proof. By application of Theorem 2.1, we have

$$(2-\mu)\frac{2^m}{(2-\lambda)^m}[(\eta-\delta)(\beta-\alpha)+1]^k\sum_{n=2}^{\infty}|a_n|$$

$$\leq \sum_{n=2}^{\infty}(n-\mu)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m[(\eta-\delta)(\beta-\alpha)(n-1)+1]^k|a_n|$$

$$\leq 1-\mu,$$

which implies

$$\sum_{n=2}^{\infty} |a_n| \le \frac{(1-\mu)(2-\lambda)^m}{2^m(2-\mu)[(\eta-\delta)(\beta-\alpha)+1]^k}.$$

Therefore, we have

$$|f(z)| = |z + \sum_{n=2}^{\infty} a_n z^n|$$

$$\leq |z| + \sum_{n=2}^{\infty} |a_n| |z|^2$$

$$\leq |z| + \frac{(1-\mu)(2-\lambda)^m}{2^m (2-\mu)[(\eta-\delta)(\beta-\alpha)+1]^k} |z|^2.$$
(18)

Again,

$$|f(z)| \ge |z| - \sum_{n=2}^{\infty} |a_n| |z|^2$$

$$\ge |z| - \frac{(1-\mu)(2-\lambda)^m}{2^m (2-\mu)[(\eta-\delta)(\beta-\alpha)+1]^k}$$
(19)

The assertion (17) follows from (18) and (19). This complete the proof of Theorem 4.3.

Using same technique we can get the following result.

Theorem 4.4 Let the hypothesis of Theorem 2.4 be satisfied. Then

$$(n-\mu)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k \ge 1 \qquad and \qquad 0 \le \mu < 1$$

implies

$$|z| - \frac{(1-\mu)(2-\lambda)^m}{2^{m+1}(2-\mu)[(\eta-\delta)(\beta-\alpha)+1]^k} |z|^2 \le |f(z)|$$

$$\le |z| + \frac{(1-\mu)(2-\lambda)^m}{2^{m+1}(2-\mu)[(\eta-\delta)(\beta-\alpha)+1]^k} |z|^2.$$

5 Extreme points

The determination of the extreme point of a family \mathcal{F} of univalent functions enable us to solve many extremal problems for \mathcal{F} .

Theorem 5.1 Let $f_1(z) = z$ and

$$f_n(z) = z + \frac{(1-\mu)\epsilon_n}{(n-\mu)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} z^n \quad (\forall \ n \ge 2; |\epsilon_n| = 1).$$

Then the hypothesis of Theorem 2.1 is satisfied if and only if f(z) can be expressed in the form as $f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$ where $\lambda_n \ge 0$ and $\sum_{n=1}^{\infty} \lambda_n = 1$.

Proof. Let $f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$, $\lambda_n \ge 0, n \ge 1$ with $\sum_{n=1}^{\infty} \lambda_n = 1$. Then we have

$$f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$$

= $\lambda_1 z + \sum_{n=2}^{\infty} \lambda_n \left[z + \frac{(1-\mu)\epsilon_n}{(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k} z^n \right]$

T. Panigrahi and L. Jena

$$=\sum_{n=1}^{\infty}\lambda_n z + \sum_{n=2}^{\infty}\lambda_n \frac{(1-\mu)\epsilon_n}{(n-\mu)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k} z^n$$
$$=z + \sum_{n=2}^{\infty}\lambda_n \frac{(1-\mu)\epsilon_n}{(n-\mu)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k} z^n.$$

Now

$$\sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k$$
$$\left| \frac{(1-\mu)\epsilon_n\lambda_n}{(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\mu)(\beta-\alpha)(n-1)+1]^k} \right|$$
$$= \sum_{n=2}^{\infty} (1-\mu)\lambda_n = (1-\mu)\sum_{n=2}^{\infty} \lambda_n = (1-\mu) \left(\sum_{n=1}^{\infty} \lambda_n - \lambda_1 \right)$$
$$= (1-\mu)(1-\lambda_1) \le (1-\mu) \quad (\lambda_1 \ge 0),$$

which is the condition (11) for $f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$. Conversely, let the hypothesis of Theorem 2.1 be satisfied. Hence by Corollary 2.2 we have

$$|a_n| \le \frac{(1-\mu)}{(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} \quad (\forall n \ge 2).$$

 Put

$$\lambda_n = \frac{(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k}{(1-\mu)\epsilon_n} a_n \quad (|\epsilon_n|=1)$$

and

$$\lambda_1 = 1 - \sum_{n=2}^{\infty} \lambda_n.$$

Then

$$f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z).$$

Corollary 5.2 Let the hypothesis of Theorem 2.1 be satisfied. Then the extreme points of $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ are the functions $f_1(z) = z$ and

$$f_n(z) = z + \frac{(1-\mu)\epsilon_n}{\left(n-\mu\right)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} z^n \quad (n=2,3,\cdots,|\epsilon_n|=1).$$

Proceeding in the same technique as Theorem 5.1, we get the following result for the class $C^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$.

Theorem 5.3 Let $f_1(z) = z$ and

$$f_n(z) = z + \frac{(1-\mu)\epsilon_n}{n(n-\mu)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} z^n.$$

Then the hypothesis of Theorem 2.4 is satisfied if and only if it can be expressed in the form as $f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$ where $\lambda_n \ge 0$ and $\sum_{n=1}^{\infty} \lambda_n = 1$.

Corollary 5.4 Let the hypothesis of Theorem 2.4 is satisfied. The extreme points of $C^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ are the function $f_1(z) = z$ and

$$f_n(z) = z + \frac{(1-\mu)\epsilon_n}{n(n-\mu)\left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1\right]^k} z^n$$
$$(n=2,3,\cdots,|\epsilon_n|=1).$$

6 Convex linear combination

Theorem 6.1 Let the functions f(z) given by (2) and $g \in \mathcal{A}$ defined by

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n$$

be satisfied the condition of Theorem 2.1. Then the function h(z) defined by

$$h(z) = (1-l)f(z) + lg(z) = z + \sum_{n=2}^{\infty} c_n z^n$$
(20)

where

$$c_n = (1-l)a_n + lb_n \quad (0 \le l \le 1)$$

is in the class $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$.

Proof. Suppose that each of the functions f and g satisfy the condition of Theorem 2.1. To show h(z) is in the class $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$, by virtue of Theorem 2.1 it is sufficient to show

$$\sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m \left[(\eta-\delta)(\beta-\alpha)(n-1)+1 \right]^k |c_n| \le (1-\mu).$$

Now

$$\sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |c_n|$$

$$= \sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |(1-l)a_n+lb_n|$$

$$\leq (1-l) \sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |a_n|$$

$$+ l \sum_{n=2}^{\infty} (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} \right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k |b_n|$$

$$\leq (1-l)(1-\mu) + l(1-\mu)$$

$$= (1-\mu),$$

The proof of Theorem 6.1 is thus completed.

Remark 6.2 Using same technique as in Theorem 6.1 and making use of Theorem 2.4 one can shown that $C^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$ is a convex set.

7 Integral Means Inequalities

For any two functions f and g analytic in \mathbb{U} , f is said to be subordinate to g in \mathbb{U} , denoted by $f \prec g$ if there exists an analytic function ω defined in \mathbb{U} satisfying $\omega(0) = 0$ and $|\omega(z)| < 1$ such that $f(z) = g(\omega(z))$ ($z \in \mathbb{U}$). In particular, if the function g is univalent in \mathbb{U} , the above subordination is equivalent to f(0) = g(0) and $f(\mathbb{U}) \subset g(\mathbb{U})$ (see [8]).

In order to prove our result, we need the following lemma.

Lemma 7.1 (see [7]) If f and g are any two functions, analytic in \mathbb{U} with $f \prec g$, then for $\xi > 0$ and $z = re^{i\theta}$ (0 < r < 1),

$$\int_{0}^{2\pi} |f(z)|^{\xi} d\theta \le \int_{0}^{2\pi} |g(z)|^{\xi} d\theta.$$
(21)

Theorem 7.2 Let the condition of Theorem 2.1 be satisfied and f_n is given by

$$f_n(z) = z + \frac{(1-\mu)\epsilon_n}{\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)} z^n, \quad (n = 2, 3, \cdots, |\epsilon_n| = 1),$$

where

$$\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n) = (n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k$$

If there exists an analytic function $\omega(z)$ given by

$$[\omega(z)]^{n-1} = \frac{\psi(\lambda, \mu, \alpha, \beta, \eta, \delta, k, n)}{(1-\mu)\epsilon_n} \sum_{n=2}^{\infty} a_n z^{n-1}, \qquad (22)$$

 $\label{eq:constraint} \textit{then for } z = r e^{i\theta} \textit{ and } 0 < r < 1,$

$$\int_{0}^{2\pi} |f(re^{i\theta})|^{\xi} d\theta \le \int_{0}^{2\pi} |f_n(re^{i\theta})|^{\xi} d\theta \quad (\xi > 0).$$
(23)

Proof. For $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$, (23) is equivalent to prove that

$$\int_0^{2\pi} \left| 1 + \sum_{n=2}^\infty a_n z^{n-1} \right|^{\xi} d\theta \le \int_0^{2\pi} \left| 1 + \frac{(1-\mu)\epsilon_n}{\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)} z^{n-1} \right|^{\xi} d\theta.$$

By Lemma 7.1, it is sufficient to show that

$$1 + \sum_{n=2}^{\infty} a_n z^{n-1} \prec 1 + \frac{(1-\mu)\epsilon_n}{\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)} z^{n-1}.$$

By setting

$$1 + \sum_{n=2}^{\infty} a_n z^{n-1} = 1 + \frac{(1-\mu)\epsilon_n}{\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)} [\omega(z)]^{n-1},$$

we get

$$[\omega(z)]^{n-1} = \frac{\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)}{(1-\mu)\epsilon_n} \sum_{n=2}^{\infty} a_n z^{n-1}.$$

Clearly, $\omega(0) = 0$. By application of Theorem 2.1, we have

$$\begin{split} |[\omega(z)]|^{n-1} &= \left| \frac{\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)}{(1-\mu)\epsilon_n} \sum_{n=2}^{\infty} a_n z^{n-1} \right| \\ &\leq \frac{\psi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)}{(1-\mu)|\epsilon_n|} \sum_{n=2}^{\infty} |a_n| |z|^{n-1} \\ &\leq |z| < 1. \end{split}$$

This complete the proof of Theorem 7.2.

In the same manner we can prove the integral means inequalities for the functional class $C^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$.

Theorem 7.3 Let the hypothesis of Theorem 2.4 be satisfied. Define the function g_n by

$$g_n(z) = z + \frac{(1-\mu)\epsilon_n}{\phi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n)} z^n, \quad (n = 2, 3, \cdots, |\epsilon_n| = 1),$$

where

$$\phi(\lambda,\mu,\alpha,\beta,\eta,\delta,k,n) = n(n-\mu) \left[\frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)}\right]^m [(\eta-\delta)(\beta-\alpha)(n-1)+1]^k$$

If there exists an analytic function $\omega_1(z)$ given by

$$[\omega_1(z)]^{n-1} = \frac{\phi(\lambda, \mu, \alpha, \beta, \eta, \delta, k, n)}{(1-\mu)\epsilon_n} \sum_{n=2}^{\infty} a_n z^{n-1}, \qquad (24)$$

then for $z = re^{i\theta}$ and 0 < r < 1,

$$\int_{0}^{2\pi} |f(re^{i\theta})|^{\xi} d\theta \le \int_{0}^{2\pi} |g_n(re^{i\theta})|^{\xi} d\theta \quad (\xi > 0).$$
 (25)

8 Fekete-Szegö Problems

It is well-known ([3]) that for $f \in S$ and given by (2), the sharp inequality $|a_3 - a_2^2| \leq 1$ holds. Fekete and Szegö [4] obtained sharp upper bounds for $|a_3 - \nu a_2^2|$ for $f \in S$ when μ is real. Thus the determination of sharp upper bounds for the nonlinear functional $|a_3 - \nu a_2^2|$ for any compact family \mathcal{F} of functions in \mathcal{A} is popularly known as the Fekete-Szegö problem for \mathcal{F} . For a brief history of the Fekete-Szegö problem see([15]).

In this section we determine the sharp upper bound for $|a_2|$ for the classes $S_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}(\mu)$ and $C_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}(\mu)$. Moreover, we calculate the Fekete-Szegö $|a_3 - \nu a_2^2|$ functional for the above mentioned classes. For this we need the following preliminary.

Let \mathcal{P} be the family of all functions p analytic in \mathbb{U} for which $\Re(p(z)) > 0$, p(0) = 1 and

$$p(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \cdots \quad (z \in \mathbb{U}).$$
 (26)

Lemma 8.1 (see[5, 6]) Let the function $p \in \mathcal{P}$ be given by the series (26). Then for any complex number μ ,

$$|c_2 - \mu c_1^2| \le 2 \max\{1, |2\mu - 1|\}$$
(27)

and the result is sharp for the functions given by

$$p(z) = \frac{1+z^2}{1-z^2}, \quad p(z) = \frac{1+z}{1-z} \quad (z \in \mathbb{U}).$$
 (28)

Theorem 8.2 Let the function f given by (2) be in the class $\mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$. Then

$$|a_2| \le \frac{(1-\mu)(2-\lambda)^m}{2^{m-1}[(\eta-\delta)(\beta-\alpha)+1]^k}$$
(29)

and for any complex number ν ,

$$|a_{3} - \nu a_{2}^{2}| \leq \frac{[(2 - \lambda)(3 - \lambda)]^{m}}{6^{m}[2(\eta - \delta)(\beta - \alpha) + 1]^{k}}(1 - \mu)$$
$$\max\left\{1, \left|1 + 2(1 - \mu)\left(1 - \nu \frac{6^{m}(2 - \lambda)^{m}[2(\eta - \delta)(\beta - \alpha) + 1]^{k}}{2^{2m-1}(3 - \lambda)^{m}[(\eta - \delta)(\beta - \alpha) + 1]^{2k}}\right)\right|\right\}.$$
 (30)

The result is sharp.

Proof. Since $f \in \mathcal{S}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$, hence by Definition 1.3 we have

$$\Re\left[\frac{z(\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z))'}{\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)}\right] > \mu \quad (0 \le \mu < 1; z \in \mathbb{U}).$$
(31)

The expression (31) is equivalent to

$$z(\mathcal{Q}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}f(z))' = [(1-\mu)p(z) + \mu]\mathcal{Q}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}f(z),$$
(32)

for some $p \in \mathcal{P}$. Equating coefficients of z^2 and z^3 on both sides of (32) we obtain

$$a_2 = \frac{(2-\lambda)^m}{2^m [(\eta-\delta)(\beta-\alpha)+1]^k} (1-\mu) p_1$$
(33)

and

$$a_3 = \frac{[(2-\lambda)(3-\lambda)]^m}{6^m [2(\eta-\delta)(\beta-\alpha)+1]^k} \frac{(1-\mu)}{2} [p_2 + (1-\mu)p_1^2],$$
(34)

Using well-known inequality $|p_n| \leq 2$ for all $n \in \mathbb{N}$, it follows from (33) that

$$|a_2| \le \frac{(1-\mu)(2-\lambda)^m}{2^{m-1}[(\eta-\delta)(\beta-\alpha)+1]^k}.$$

This proves the assertion (29).

Further for $\nu \in \mathbb{C}$, we have

$$a_3 - \nu a_2^2 = \frac{[(2-\lambda)(3-\lambda)]^m}{6^m [2(\eta-\delta)(\beta-\alpha)+1]^k} \frac{(1-\mu)}{2} [p_2 - sp_1^2],$$
(35)

where

$$s = (1 - \mu) \left[\nu \frac{6^m (2 - \lambda)^m [2(\eta - \delta)(\beta - \alpha) + 1]^k}{2^{2m - 1} (3 - \lambda)^m [(\eta - \delta)(\beta - \alpha) + 1]^{2k}} - 1 \right].$$

An application of Lemma 8.1 to (35) gives

$$\begin{aligned} |a_3 - \nu a_2^2| &\leq \frac{[(2-\lambda)(3-\lambda)]^m}{6^m [2(\eta-\delta)(\beta-\alpha)+1]^k} (1-\mu) \max\{1, |2s-1|\} \\ &= \frac{[(2-\lambda)(3-\lambda)]^m}{6^m [2(\eta-\delta)(\beta-\alpha)+1]^k} (1-\mu) \\ \max\left\{1, \left|1 + 2(1-\mu) \left(1 - \nu \frac{6^m (2-\lambda)^m [2(\eta-\delta)(\beta-\alpha)+1]^k}{2^{2m-1}(3-\lambda)^m [(\eta-\delta)(\beta-\alpha)+1]^{2k}}\right)\right|\right\}. \end{aligned}$$

This is precisely the assertion (30). Equality is attained for the functions given by

$$\Re\left[\frac{z(\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z))'}{\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)}\right] = \frac{1+(1-2\mu)z^2}{1-z^2},$$

and

$$\Re\left[\frac{z(\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z))'}{\mathcal{Q}_{\alpha,\beta,\eta,\delta}^{k,\lambda,m}f(z)}\right] = \frac{1+(1-2\mu)z}{1-z}$$

respectively.

Corollary 8.3 Let the assumption of Theorem 8.2 holds. Then for $\mu = 0$, we have

$$|a_2| \le \frac{(2-\lambda)^m}{2^{m-1}[(\eta-\delta)(\beta-\alpha)+1]^k},$$

and for any complex number mu,

$$|a_3 - \nu a_2^2| \le \frac{[(2 - \lambda)(3 - \lambda)]^m}{6^m [2(\eta - \delta)(\beta - \alpha) + 1]^k} \\ \max\left\{1, \left|1 + 2\left(1 - \nu \frac{6^m (2 - \lambda)^m [2(\eta - \delta)(\beta - \alpha) + 1]^k}{2^{2m - 1} (3 - \lambda)^m [(\eta - \delta)(\beta - \alpha) + 1]^{2k}}\right)\right|\right\}.$$

In the similar manner we can prove the following result for the class $\mathcal{C}^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$.

Theorem 8.4 Let the function f given by (2) be in the class $C^{k,\lambda,m}_{\alpha,\beta,\eta,\delta}(\mu)$. Then

$$|a_2| \le \frac{(1-\mu)(2-\lambda)^m}{2^m [(\eta-\delta)(\beta-\alpha)+1]^k}$$

and for any complex number ν ,

$$\begin{aligned} |a_3 - \nu a_2^2| &\leq \frac{2[(2-\lambda)(3-\lambda)]^m}{6^{m+1}[2(\eta-\delta)(\beta-\alpha)+1]^k}(1-\mu) \\ \max\left\{1, \left|1 + 2(1-\mu)\left(2 - \nu \frac{6^{m+1}(2-\lambda)^m[2(\eta-\delta)(\beta-\alpha)+1]^k}{2^{2m+2}(3-\lambda)^m[(\eta-\delta)(\beta-\alpha)+1]^{2k}}\right)\right|\right\}. \end{aligned}$$

The result is sharp.

Corollary 8.5 Let the assumption of Theorem 8.4 holds. Then for $\mu = 0$, we have

$$|a_2| \le \frac{(2-\lambda)^m}{2^m [(\eta-\delta)(\beta-\alpha)+1]^k},$$

and for any complex number ν ,

$$|a_3 - \nu a_2^2| \le \frac{2[(2-\lambda)(3-\lambda)]^m}{6^{m+1}[2(\eta-\delta)(\beta-\alpha)+1]^k}$$
$$\max\left\{1, \left|1 + 2\left(2 - \nu \frac{6^{m+1}(2-\lambda)^m[2(\eta-\delta)(\beta-\alpha)+1]^k}{2^{2m+2}(3-\lambda)^m[(\eta-\delta)(\beta-\alpha)+1]^{2k}}\right)\right|\right\}.$$

9 Open Problem

Using another differential operator, define the other classes of analytic functions using the Definitions 1.3 and 1.4. For the defined classes find various properties such as inclusion theorems, distortion theorems, closure theorems, raddi of starlikeness, convexity and close-to-convex of functions belonging to these classes.

References

- F. M. Al-Oboudi, On univalent functions defined by a generalized Sãlãgean operator, Int. J. Math. Math. Sci., 27 (2004), 1429-1436.
- [2] M. Darus and R. W. Ibrahim, On subclasses for generalized operators of complex order, Far East J. Math. Sci., 33(3)(2009), 299-308.
- [3] P. L. Duren, Univalent Functions, Grundlehren der Mathematischen Wissenschaften, Vol. 259, Springer Verlag, New York (1983).
- [4] M. Fekete and G. Szegö, Eine bemerkung über ungerade schlichte funktionen, J. London Math. Soc., 8 (1933), 85-89.
- [5] F. R. Keogh and E. P. Merkes, A coefficient inequality for certain classes of analytic functions, Proc. Amer. Math. Soc., 20(1969), 8-12.
- [6] R. J. Libera and E. J. Zlotkiewicz, Coefficient bounds for the inverse of a function with derivative in *P*, Proc. Amer. Math. Soc., 87(1983), 251-257.
- [7] J. E. Littlewood, On inequalities in the theory of functions, Proc. London Math. Soc., 23 (1925), 481-519.

- [8] S. S. Miller and P. T. Mocanu, Differential Subordinations: Theory and Applications, in: Monographs and Textbooks in Pure and Applied Mathematics, 225, Marcel Dekker, New York, 2000.
- [9] A. K. Mishra and P. Gochhayat, Applications of the Owa-Srivastava operator to the class of k-uniformly convex functions, Fract. Calc. Appl. Anal., 9(4) (2006), 323-331.
- [10] A. K. Mishra and P. Gochhayat, The Fekete-Szegö problem for k-uniformly convex function and for a class defined by the Owa-Srivastava operator, J. Math. Anal. Appl., 347(2008), 563-572.
- [11] S. Owa and H. M. Srivastava, Univalent and starlike generalized hypergeometric function, Canad. J. Math., 39(1987), 1057-1077.
- [12] S. F. Ramadan and M. Darus, Univalence criteria for a family of integral operators defined by generalized differential operator, Acta Univ. Apul., 25(2011), 119-131.
- M. S. Robertson, On the theory of univalent functions, Ann. Math., 37(1936), 374-406.
- [14] G. S. Sãlãgean, Subclasses of Univalent Functions, Lectures Notes in Math., 1013, Springer-Verlag, Berlin, (1983), 362-372.
- [15] H. M. Srivastava, A. K. Mishra and M. K. Das, The Fekete- Szegö problem for a subclass of close -to- convex functions, *Complex Var. Theory Appl.*, 44 (2001), 145-163.
- [16] H. M. Srivastava and S. Owa, An application of the fractional derivative, Math. Japon, 29(1984), 383-389.